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This paper consists of fifty multiple-choice type of questions.
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to open the booklet and compulsorily examine it as below :

(i) Tohaveaccess to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a
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booklet.
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If you write your name or put any mark on any part of the test
booklet, except for the space allotted for the relevant entries,
which may disclose your identity, you will render yourself
liable to disqualification.

You have to return the test question booklet to the invigilators
at the end of the examination compulsorily and must not carry
it with you outside the Examination Hall.

Use only Blue/Black Ball point pen.
Use of any calculator or log table etc., is prohibited.

There is NO negative marking.
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ANTHROPOLOGY
PAPER —1II

Note : This paper contains fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all the questions.

1.  Which one of the following scholars coined the term Action Anthropology ?
(A) J. Steward (B) Sol Tax
(C) A. L. Kroeber (D) M. Mead

2.  Father of New Physical Anthropology is :

(A) Watson (B) Washburn
(C) L.S.B. Leaky (D) Morgan
3. Acculturation is a process of culture change through :

(A) Innovation
B) Diffusion

Cultural loss

D) Contact between different cultures
4.  Theory of structuralism was proposed by :
(A) Claude Levi-Strauss (B) A. R. Radcliff Brown
(C) R. Redfield (D) B. Malinowski
5. “India’s changing villages” is written by :
(A) N. K. Bose (B) G.S. Ghurye
(C) D. N. Mazumdar (D) S. C. Dube
6.  The concept of “Dominant Caste” is associated with :
(A) L. P. Vidyarthi (B) M. N. Srinivas
(C) E. A.Hoebel (D) Y. B. Damle
7.  The rule that specifies that one must marry outside one’s own group is :
(A) Endogamy (B) Monogamy
(C) Exogamy (D) Polygamy

J—0707 2
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10.

11.

12.

13.

14.

15.

16.

When a woman addresses or refers to her husband by adding the name of her son, the
practise is called :

(A) Couvade (B) Teknonymy
(C) Avunculate (D) Amitate

A belief in soul is called :

(A) Animism (B) Totemism (C) Animatism (D) Fetishism

Which one of the following is a primate character :
(A) Opposable thumb (B) Aquatic
(C) Unicellular (D) Amphibia

A B O Blood groups are discovered by :
(A) Bernstein (B) Weiner
(C) Landsteiner (D) Garrod

The number of chromosomes in man is :
(A) 42 (B) 48 (C) 46 (D) 44

A raised ridge along the midline of the cranium where the temporal muscle is attached
is :

(A) Nuchal crest (B) Supra-orbital torus
(C) Parietal crest (D) Sagittal crest

The first archaeological evidence of burial practise occurs with :
(A) Homo-erectus (B) Homo-Africanus
(C) Cro-magnon (D) Neandarthal

Who wrote the book entitled “Philosophic zoologique” ?
(A) Lamark (B) Mendel (C) Galton (D) Darwin

The best traits to study in a racial classification analysis are :
(A) Those that have no adaptive value.

(B) Those with known adaptive value.

(C) Polygenic characteristics in general.

(D)

None of the above.
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17.

18.

19.

20.

21.

Mention the name of the culture with which cylinder hammer technique was associated :

(A) Neolithic (B) Solutrean

(C) Azilian (D) Acheulian

Who is the author of the book entitled “Archaeology and Society” ?
(A) M. Wheeler (B) Alchin

(C) Desmond Clark (D) Grahame Clark

Mention the most used by the prehistoric man for the purpose of graphic art :

(A) Scraper (B) Graver (C) Lanceolate (D) Crescent
In which part of the world “fertile crescent” is located :
(A) Central Europe (B) North America

(C) India (D) North-West Asia

Match an item in List-I with an item in List-II. Use code given below :

List-1 List-11
() Maximum cranial length (i) DPelvimeter
(b)  Stature (i) Tape
(c) Head circumference (iii) Anthropometer
(d) Pelvic diameter (iv) Spreading Caliper
Codes

(@ (b () @
(A) @) @) 0 i)
B Gv) @ @ i)
© (v i) @) 0
D) Gi) @ @ @)



SH G 1 AW 3 Hifey frae |y fafeet | TR S I 7
(A) Tt (B) HiegdH
(@R SIERE (D) Uferfera

 anifehaiettsl T WETe!’ e Y& 1 THRash i ¢ 2
(A) TH. GeR (B) 3fe=
(C) <SHHE FIh (D) TT&H FATeh

Yrifaeees e 3 Witk 3T & foau forment Haifus s&Her foman ?

(A) THFXR (B) TR (C) TR (D) H¥e
fava & form v #  whefsdt hae’ o €72

(A) W\ U (B) S 3HfEH

(C) sfemn (D) IR-UfT=M TR

=t fore el sl TN i gL GE-1 31 62 ol Fei-11 ot 78 § fire wifse

gen-1 geEi-11
(a) HfsaHH BT vy () UEHR
(b) X (i) <9
() TS THIRH (iii) TR
d) Ufcas sEmR (iv) SIfem Hfam
HE:

(@ (b)) (o (@
(A) (@) (@v) @ (i)
B) @(v) @) @ (i)
© (v) @) G @
(D) (@) @) @ (i)
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22. Match an item in List-I with an item in List-II. Use code number given below :

List-1 List-11
(a) Miocene Ape (i) Franz Weidenrich
(b)  Australopithecus africanus (i) Pro Consul
(c) Homo erectus (iii) Ashley Montegu
(d) Race concept (iv) Raymond Dart
Codes :
(@ (b)) (o (@
(A) @) (@v) (1) (D)
B) @) @) 3§D @Gv)
(© Gv) @) @ (D)
(D) @) (@v) @) @)
23. Match an item in List-I with an item in List-I. Use code given below :
List-1 List-11
(a)  Skin color (i) Dominant inheritance
(b) Rh blood group (i) Recessive inheritance
(c)  MN blood group (iii) Polygenic inheritance
(d) Alkaptonuria (iv) Co-dominant inheritance
Codes :
(@ (b) (o (@
(A) @) @  (@v) (i)
(B) @) (v) @) (D)
(© Gv) (@) @) @)
(D) @) (@) (v) ()
24. Match an item in List-I with an item in List-II. Use code given below :
List-1 List-11
(a) Measures of dispersion (i) mean
(b)  Control tendency (i) standard deviation
(c) Test for qualitative characters (i) t-test
(d) Test for quantitative characters (iv) X2test
Codes :
(@ () (o (@)
(A) @ @) 3D @)
(B) @) @) @ )
(© @) @Gv) G @
(D) G) @@ (v) (i)



22, 9 for@ el o1 YA d BT G-I 1 7S 1 GE-11 i 78 9 e wifsa |

-1 gei-11
(a) WHEIfET T () el aEeAfE
(b) SAEfeardfues Tfremd (i) YRS
(c) B TERE (iii) T WiEg
d) WHFIe (iv) We=rR
HIE:
(@ B (©© @
(A) @) (@Gv) @ (i)
B) @ () @) ()
Q) @v) () (@ (i)
(D) @) (Gv) G ()
23. TQU W el 1 TAM X L G-I H T 7R A G-I e &
gel-1 gei-11
(a) T weR () e s Teiew
(b) SNTA. =€ Y4 () Fofgea =i
(c) TH.UA. =8 YU (iii) diferSifTen seRew
(d) STRERIRE (iv) HI-TfH= 3Rew
Fie:
(@ @B (©© @
(A) @) @@  @v) (i)
®) @ (@v) @) (i)
Q) (v) (@) @) ()
D) @ @) @v) (i)
24. U SIS 1 TN A Y YE-1 1 72 A1 FE-11 6 78 § fiem wifse
gei-1 11
(a) TS ATE feomi () HH
(b) e =t (i) e foaem
(c) T[UTcHeR TI&T0T Lol (iii) I
(d) HEAHS & hl JU&I (iv) TR
FIE:
(@ B (© @
(A) @ @) @) Q)
(B) G) (@) @ ()
Q) @) (@Gv) G ()
(D) G) @@ @v) (i)
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25. Match an item in List-I with an item in List-Il. Use code given below :

List-1 List-11
(@) J. D. Clark (i) Man the tool maker
(b)  Stuart Piggot (i) The Indus Valley Civilization
() M. Wheeler (iii) Prehistoric India
(d) K. P.Oakley (iv) The Prehistory of Southern Africa
Codes :
(@ (b)) (o (@
(A) @ @) (@v) (i)
(B) (@v) @) @) (i)
(€ @) @ @ (@v)
(D) (v) @) @) @

26. Match an item in List-I with an item in List-Il. Use code given below :
List-I List-11

(a) Anthropozoic era (i)  Mesolithic
(b) Ripple mark (i) Gordon childe
(c) Neolithic revolution (i) Quaternary period
(d) Navigation (iv) Lithic tool
Codes :
(@ ((b) (o (@
(A) @) (@) @v) (i)
(B) @) (@v) @) @)
© Gv) @) @ ()
(D) @) @  (v) (i)
27. Match an item in List-I with an item in List-II. Use code given below :
List-1 List-11
(a) Matrilineal society (i) Agaria
(b) Polyandrous society (i) Santal
(c) Cultivating tribe (iii) Khasi
(d) Artisan tribe (iv) Toda
Codes
(@ () (o (@
(A) @ @) 3§D @)
(B) @) (v) (D) ()
(© Gv) (@) G @)
(D) @) (@Gv) @) @)
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25. U T IS K YA A L G-I 1 1S I GEI-11 1 7 9§ e sifs

-1 gEi-11
) 2. FAH () HIT T IR
(b) e fmie (i) T 3= doit fafaamssed
(c) TH FR (iii) fufeifem sfea
d)  F9q T (iv) < Tufesdl ik TeH il
Fie:
(@ B (© @
(A) @ (@) @v) (i)
B) @v) @@ @) (i)
Q) @) @@ @) ()
(D) (v) (i) G (D)
26. U T IS K YA A L G-I K 1S H GEI-11 1 78 9§ e =i
o geit-11
(a) TSITUNSTES T (i) HHERR
OERRSEED (i) TET =TS
(c) Ty fecge (iii) TR HifEE
(d) AfeeE (iv) Tfeiferes 2o
Fie:
(@ B (©© @
(A) @ (@) @v) (i)
(B) (i) (v) @) (D)
Q) @v) () (@) (i)
(D) @) @) (v) (i)
27. fou Tw Il 1 9A i g G-I 1 7S hl GAI-IL 1 A § A Hifse |
gei-1 gei-11
(a) HIGHIHR FHIST ()  sTmieEn
(b) RIS TS (i) T
(c) FHiverHl (ehfceafe) SHsa (iii) @
(d) TR (efdsH) SHsfa (iv) =
FIe:
(@ B (©© @
(A) @ (@) @) Q)
(B) () (v) (D) ()
Q) (v) (@) G ()
(D) @) (@Gv) () ()
J—0707 11
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28. Match an item in List-I with an item in List-Il. Use code given below :
List-I List-11

(a) Sacred Complex (i)  Tribal society

(b) Panchayati Raj (i) Ancient Indian Society

(c) Varnashram (iii) Gaya

(d) Totemism (iv) Democratic decentralization

Codes
(@ ((b) (o (@

(A) @) (@) (v) (D)

(B) Gv) () @) ()

(© G @Gv) G @

(D) G@v) @ @) ()

29. Match an item in List-I with an item in List-Il. Use code given below :

List-1 List-11

(a) Caste system (i)  Religion

(b)  Tribal society (i) Homogeneity

() Neo evolutionism (iii) Heterogeneity

(d) Preventive magic (iv) Leslie white

Codes :
(@ (b)) (o (@

(A) @) @) @v) (i)

(B) @) (@) (v) ()

© Gv) @ @) ()

(D) G) @@ @) @)

30. Match an item in List-I with an item in List-II. Use code given below :

List-1 List-11

(a) Pastoralism (i) Mckim Marriot

(b)  Reciprocity (i) Nuer

(c) Segmentary lineage (iii) Toda

(d) Parochialization (iv) Tribal economy

Codes
(@ () (o (@)

(A) @) @Gv) @ (D)

B) @) @) @v) ()

(© @) @Gv) G @

(D) Gv) (@) @ (D)

J—0707 12



28. fou U Il F1 ITAM X U FAI-1 it TS 1 FA-11 i 78 9 e Fifsw |

gel-1 gei-11
(a)  Tfersil <kt Ut ()  SESE GHS
(b) =T TS (i) T YR SIS
(c) SungH (iii) TR
(d) refasm (iv) USTifeR forehaieton
Fie:
(@ B (©© @
(A) @ () @v) (i)
(B) (v) (i) () (i)
Q) @) (@Gv) G ()
(D) Gv) @@ @) (i)
29. {3 T Il 1 TANT L BU YAI-1 1 A § G-I 1 13 1 o i
gei-1 gait-11
(a) ST g G
(b) SIS FHIS (i) HESIAA (SESH )
(c) o faerrerg (iti)  forosiciteran
(d) fremes Sg (iv) ol =Ee
Fie:
(@ B (©© @
(A) @ () @v) (i)
(B) (i) () (v) (D)
© @v) 1) @) (i)
(D) G) @ @) Q)
30. fIU T KIS 1 YA A gC GEI-1 1 7S K1 FA-11 1 A7 § el wifSw )
gei-1 gei-11
(a) REREER () () Hfen dfEe
(b) OREaRERdr (FEUIfEE) (i) IR
(c) U IR (FHA eifus) (i)
(d) RS (iv) ST Srefereree
FIe:
(@ @B (©© @
(A) @) (@Gv) @) (i)
B) @ () @v) (i)
(© @) @Gv) @) ()
(D) @v) (@) @) (i)

13
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31.

32.

33.

34.

35.

36.

Identify the correct sequence :

(A) Neonatal - Infancy - Childhood - Adolescence
(B) Infancy - Neonatal - Childhood - Adolescence

(C) Childhood - Adolescence - Infancy - Neonatal

(D) Adolescence - Neonatal - Infancy - Childhood

Identify the correct sequence :

(A) Australopithecus - Homosapien - Ramapithecus - Homoerectus
(B) Ramapithecus - Australopithecus - Homoerectus - Homosapien
(C

(D

) Ramapithecus - Homoerectus - Homosapien - Australopithecus
) Homosapien - Ramapithecus - Homoerectus - Australopithecus
Identify the correct sequence :

(A) Gibbon - Orang-utan - Chimpanjee - Man

(B) Orang-utan - Gibbon - Man - Chimpanjee
(C

(D

) Man - Gibbon - Chimpanjee - Orang-utan

) Chimpanjee - Orang-utan - Gibbon - Man

Identify the correct sequence :

(A) Cell membrane - Mitochondria - Nuclear membrane - Nucleolus
(B) Mitochondria - Cell membrane - Nucleolus - Nuclear membrane
(C) Nucleolus - Nuclear membrane - Mitochondria - Cell membrane
(D) Nuclear membrane - Cell membrane - Nucleolus - Mitochondria
Identify the correct sequence :

(A) Varna - Tribe - Kin community - Caste

(B) Tribe - Varna - Caste - Kin community
(C

(D

) Caste - Tribe - Varna - Kin community

) Kin community - Tribe - Caste - Varna

Identify the correct sequence :

(A) Priestly caste - Trading caste - Servicing caste - Warrior caste
(B) Trading caste - Priestly caste - Servicing caste - Warrior caste
(C) Servicing caste - Trading caste - Warrior caste - Priestly caste
(D)

Warrior caste - Servicing caste - Priestly caste - Trading caste

J—0707 14



31.

32.

33.

34.

35.

36.

T STIHT YT

A) el Wity - SRR - qfaded - SHREs
B) iUy - sTRefordl Nifosrd - SmsieRd - amifeA

HE STHH TS

(A) T T - fHdrepif-gan - =fderat Hor - feerad
(B) Tharrifgan - §e1 Hald - =Yforered - =fforr=x Hod
(Q)  foerad - feerax Hoid - fudrrifgan - It doH
(D)  fora HolA - ¥t HolA - ket - fidiepif-gan
HE STHH TS

(A) 3 - TSI - T wErE (R ) - S
(B) TSIt — aof - Sifd - & T (foh hegfdt)
(C) STfet - S - =i - T T (fo wegfe)
(D) I \oerE (foh () - S - Sfd - oo

A) R - ¥ - J[E - &b
B) oIvd - SRV - Y& - &R
C) TE- 9% - &bE - SR

(
(
(
(D) &f™ - Yg - IR - I9

J—0707 15
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37.

38.

39.

40.

41.

Identify the correct sequence :

(A) Sanyas - Brahmacharya - Grahastha - Banaprastha
B) Grahastha - Sanyas - Brahmacharya - Banaprastha
Brahmacharya - Grahastha - Banaprastha - Sanyas
Grahastha - Banaprastha - Sanyas - Brahmacharya

Identify the correct sequence :

(A) Animal husbandry - Home Art - Village farming - Net fishing
B) Village farming - Home Art - Net fishing - Village farming
Home Art - Net fishing - Animal husbandry - Village farming
Net fishing - Home Art - Animal husbandry - Village farming

Identify the correct sequence :

(A) Holocene - Pleistocene - Miocene - Pliocene
B) Miocene - Pliocene - Pleistocene - Holocene
Pliocene - Miocene - Holocene - Pleistocene

Pleistocene - Miocene - Holocene - Pliocene

Identify the correct sequence :

(A) Point - Hand axe - Knife - Crescent
B) Crescent - Point - Hand axe - Knife
Hand axe - Point - Knife - Crescent

Knife - Crescent - Hand axe - Point

Given are two statements labelled Assertion (A) and Reason (R) :
Assertion (A) : Genetic Counselling prevents all genetic diseases.
Reason (R) : Genetic Counselling prevents only some diseases.
On the basis of the above, choose the correct answer :

(A) (A) is true, but (R) is false.

B) Both (A) and (R) are true.

(A) is false, but (R) is true.

Both (A) and (R) are false.
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37.

38.

39.

40.

41.

HE STHH TS

(A) HH - SRTed - TR - YR
(B) TR - HAN - FE=d - AMYE
(C) T=d - TR - AFYEY - G
(D) TRE - AHYE - HAH - SETed

WWW@Q:
(A) I - B fored - wm Y - vl g
(B) 9= T - =] Fored - Wl WS - I Y
(C) =] Roreq - vl geheT - q[ure - UM i
(D) & Tohe — R fored - e - I Hiw
HE STHH TS

(A) T - TR - AR - e
(B) WA - ferare - feaueita - e
(C) Terdd - A - B - feuRifa
(D) TewRfa - AR - Sed= - ferd=

HE STHH TS

(A) TEE - &8 T - TE - HHe
(B) hde - @S2 - & U - TEE
(C) e - wEe - TRE - Hie
(D) g - HBHe - T T - @RS

feu T faaro § e (A) 3R &R0 (R) € :

HIT (A) : TSI T ST ST i Jhers Hdt 2|
HIUT (R) : SIS TRHY FHael F ST bl Jhemd il €|
YU o SHR T eI S G

(A) (A) T& ¥ IR (R) TTerd

(B) (A) 3R (R) T @&t &

(C) (A) e %, (R) W&t &

(D) (A) 3R (R) ST TTera &
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42.

43.

44.

Given are two statements labelled Assertion (A) and Reason (R) :
Assertion (A) : Meiosis occurs only in germ cells.

Reason (R) : Meiosis occurs also in somatic cells.

On the basis of the above, choose the correct answer :

(A) Both (A) and (R) are true.

(B)  (A) is false, but (R) is true.

(C) Both (A) and (R) are false.

(D) (A) is true, but (R) is false.

Given are two statements labelled Assertion (A) and Reason (R) :

Assertion (A) : Human genome project does not promote human welfare.
Reason (R) : Human genome project helps to identify the genes for diseases.
On the basis of the above, choose the correct answer :

(A) (A) is true, but (R) is false.

(B) Both (A) and (R) are true.

(C) (A) is false, but (R) is true.

(D) Both (A) and (R) are false.

Given are two statements labelled Assertion (A) and Reason (R) :
Assertion (A) : All tools are not artifacts.

Reason (R) : There are variety of animals who make and use artifact.
On the basis of the above, choose the correct answer :

(A) (A) is false, but (R) is true.

(B) Both (A) and (R) are false.

(C) (A) is true, but (R) is false.

(D) Both (A) and (R) are true.
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42, N %A (A) R FRO1 (R) < faanor fgw e €
HIT (A) : THTe Faa o I § T Tl
T (R) : Trefoe dmifes da § o 2 g1
IRE h YR T HE I AT
(A) (A) 3R (R) SHT T &

(B) (A) e § 3R (R) W&t ¥
(C) (A) 3R (R) I Tord &
(D) (A) 5& ¥ 3R (R) 7o §

43. feu T faawo § wem (A) 3R SR (R) ¥ :
HAT (A) : HH SHM IRASH TS HeAT0 bl FieaTied Tel s |
SHIUT (R) : A S RS SHIE 3 S i 9= ¥ 7eg il |
ST o TN T HE ST (T
(A) (A) T T 3R (R) To1d
(B) (A) 3R (R) T @&t &
(C) (A) e %, (R) W&t &
(D) (A) 3R (R) ST TTera &

44. feu g faeo § wed (A) 3R ER0 (R) ¥ :
HIT (A) : TH SR FHelhia T2l 8
HIOT (R) : FE TR F TN & ST FHeArh i sl ST § TR ST T hid & |
YU o SAUR W eI S G
(A) (A) 7 T, (R) 98t
(B) (A) 3R (R) I TTera &
(C) (A) T T 3R (R) T ©
(D) (A) 3R (R) I Tt &
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45.

46.

47.

Given are two statements labelled Assertion (A) and Reason (R) :

Assertion (A) : Development from Abbevellian to Acheulian is primarily evolution of
hand axe.

Reason (R) : Evolution from Abbevellain to Acheulian is primarily a development
from straight to zigzag cutting edge of hand axe.

On the basis of the above, choose the correct answer :
(A) Both (A) and (R) are true.
(B) (A) is true, but (R) is false.
(C) Both (A) and (R) are false.
(D) (A) is false, but (R) is true.

Given are two statements labelled Assertion (A) and Reason (R) :

Assertion (A) : Simple division of labour is the characteristic feature of tribal economy
of India

Reason (R) : Tribal communities in India depend primarily on post-industrial
technology

On the basis of the above, choose the correct answer :

A) Both (A) and (R) are false.

(

(B) (R) is true, but (A) is false.
(C) (A) is true, but (R) is false.
(

D) Both (A) and (R) are true.

Given are two statements labelled Assertion (A) and Reason (R) :
Assertion (A) : Sanskritization process is observed in Indian society.
Reason (R) : Indian society is homogenic in nature.

On the basis of the above, choose the correct answer :

(A) Both (A) and (R) are false.
(B) (A) is true, but (R) is false.
(C) Both (A) and (R) are true.
(

D) (A) is false, but (R) is true.
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45. feu U faero ¥ wed (A) R SR (R) ¥ :
HIT (A) : STIATI F THRferaA ol fahrd qeaa: & T &l fgem 7

T (R) : STeEfea H TR, JEd: 208 Ua ol shied i ¥R o1 H1Y § Sg-Hel ¥R
fomm 71

YU o SUR T eI S G
(A) (A) 3R (R) T Tt &
(B) (A) W& ¥ 3R (R) TTetq
(C) (A) 3R (R) I TTera &
(D) (A) e &, (R) W&t &

46. feu Ty faawo § e (A) 3R HR0 (R) ¥ :
HIUT (A) : TR H ST TefcTeen 1 TG &0l Tel FHfIHeH & |
IO (R) : 9RA H S 97T §&F €9 9 I i ot 1 R 7
3YUH oh SR T HEI I G
(A)  (A) 3R (R) SHI Tord &
(B) (R) W& T, (A) TTerd ©
(C) (A) W& ¥ 3R (R) 7o §
(D) (A) 3R (R) SHT T &

47. feu g faawo § e (A) 3R SR (R) ¥ :
HIT (A) : TR U B GERTh bt YEHAT 61 Joe |
HEUT (R) : IRAT IS W99 § TS (BHSIHF) )
ST o TN T HE ST (T
(A) (A) 3R (R) SHI Tora &
(B) (A) W& ¥ 3R (R) TTe1d §
(C) (A) 3R (R) SHT T &
(D) (A) 7 %, (R) &t ©
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48. Given are two statements labelled Assertion (A) and Reason (R) :

Assertion (A) : Higher the position of a caste, greater it has capacity to absorb
pollution.

Reason (R) : Purity is the determinant of higher caste status.
On the basis of the above, choose the correct answer :

(A) Both (A) and (R) are false.

(B) (A) is true, but (R) is false.

(C) (A) is false, but (R) is true.

(D) Both (A) and (R) are true.

49. Which one of the following pairs is NOT correctly matched ?

(A) Pattern of Human Growth : Barry Bogin
(B) Human Evolution : B. Campbell
(C©) Human Adaptation : A Functional Approach : A. R. Frisancho
(D) The Life of Primate : H. R. Shapiro

50. Which one of the following pairs is correctly matched ?

(A) Jarwa tribe of Andaman Islands : Cultivation

(B) Concept of purity and pollution : Caste system

(C) Heterogenous social system : Tribal community

(D) Diffusion of Culture : Social stratification
-00o0-
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48. feu U faero § wed (A) 3R %R0 (R) ¥ :
HAA (A) : Tt snfa o S o o o1ed § fop g oTeiie bl WU T oSt e Wt 7 |
T (R) : Yfear 3 wifd & T 1 fuifa ot 7
ST o TN T HE ST (T
(A) (A) 3R (R) I Tord &
(B) (A) W& ¥ 3R (R) TTeTq
(C) (A) M T, (R) 98t ©
(D) (A) 3R (R) SHT T &

49. Tr=fafaa § «F @ g™ 3 9 78 faamn ™ e?

(A) T i g Wy . YR
(B) & Telequ ;o ol e
(C) TAT ERM : ThREd 9= TR fRdmn
(D) e o= &A% ugHe © TSR R

50. = feu e g H forwen foem W@ gen ® 2

(A) 3HM grdl i Sfail S S O

(B) QI U STl Y WU/ SEROT ;. STIfd e

(C) Toromsirdta TSI Sxereen D SN SHEE

(D) WGl 1 faeem S IL I SRS Ca|
-00o0-
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